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Time allowed : 3 Hours] [Maximum Marks : 60

e (i) FHA-TEATIFAC AT
Note : There are THREE sections in the paper A, B and C.
(ii) FIT-T 3 X7 G 1 % G 10 977 & I T | 59 97 O 379 F1 2
g 4} 10 97T TG FHR & I 3 & |
Answer all the 10 parts of the question No. 1 in Section A. Each part
carries one mark and all 10 parts have objective type questions.

(iii) QFIT-31 F 8 T 7 & 557 6 T & IR T | 99F 597 3 7% 7 8 v
FTH1 5 CET / 50 %G1 4 I GIorw |
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(iv) QHT-8 F 6 T791 5 @ fosee 4 597 & IR DT | T 597 8 3% BT & v
§THT15 IET / 150 Feg) 4 3% fow |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

(v)  N% G 3 G 591 %) FHER O GTE 5T FHT |
Solve all the questions of a section consecutively together.

(vi) M1 YTSI37T 8 377 817 1 [T A A srgare AT 8 1

Only English version is valid in case of difference in both the languages.

YR - T
Section — A
1. () Y999 % HE A S % o1 &1 = 2
(2) YIITAE S (b) @A
(c) Formm (d) T
In management function, which process comes after planning ?
(a) Forecasting (b) Organisation
(c) Control (d) Direction

o
".i (1 0f4) P.T.O.
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TTSIERT # SAferehan el hl T B B |
(@ 5 (b) 8
@) 20 @ 12
Maximum members can be in partnership business
(@ 35 (b) 8
(c) 20 @ 12
foramsfiet Tre =1 g o 3
(a) T (b) Tz
(c) um=d (d) 3SYUH A G IS T
Main advantage of functional organisation
(a) Simplicity (b) Specialization
(c) Co-ordination (d) None of the above
9 TG g s @ |
(@) 3ATCY H& HET R (b) oraaT 3TTCY T B
(c) 3TIC e Yg=l ST (d) 3TUs Gt
Re-order point tells
(@) When to order (b) How much to order
(c) When the order will reach (d) All of the above
A FEHI @M Eas |
(a) HRIETEm H (b) wWRH
(c) A e d (d) Tershar ferorer
Bin Card is used in
(@) Workshop (b) Store
(¢) Purchase department (d) Sales department
1 a1t fre @ wefta @
(a) EFF TF IUHTYT BT THTE STATT (b))  HITe TATH HT ST 39T
(c) TS HR HT Yok (@) IHwad

Work study consist of —

(a) effective use of plant and equipment
(b) effective use of human efforts

(¢) evaluation of human work

(d) All of the above

rfafer w7 N7 el e o wesait ot el s 2 ¢
(a T (b) HUSRY

(©) IR (d) e

In method study, this V symbol represent which event ?

(a) Inspection (b) Storage
(c) Operation (d) Transportation
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(viii) ABC fergetur st wishan < fore o1 o1 e @@l @

(ix)

)

(a) A Frse 6l T HH B R |

(b) B e 6l T@ A ¥ 3 Bl 2 |

(©) C Jmserd <l arfties SUaNT Hid H7 Bl & |
(d) Ul Ot

Which statement is true in procedure of ABC Analysis ?
(a) Items A are less in quantity

(b) Quantity of item B are more than item A

(¢) Annual uses value of item C are less.

(d) All of the above

s s yenadie ?

(a) T fferer (b) difia Ffeen

(c) et e (d) oraEm ffee
Which one of the following is not a type of tender ?

(a) Single tender (b) Limited tender
(c) Open tender (d) Lumpsum tender

T HE B B B TS GUI § TUS § T ASGH & X 2 WA B0 B Th Ak
1 Y 6 TUS T QU HTAT & Al I ot TGl WS AISHT o A=l @1 Bl 7

(@ 10 (b) 15

() 12 @ 8

If standard time for a job is 8 hrs. and hourly rate is ¥ 2, find worker’s earning
who complete the job in a six hours by Rowan system.

(a 10 (b) 15
(c) 12 (d 8 (1x10)
A —
Section — B
2. 3 I FHATT |
Explain motivation. A3
3. Uehel Tafiicd Ud Higie) # 9 SRR @ ?
What is the difference between sole proprietorship and partnership ? A3
4, prifafty e % Igew fofey |
Write objectives of method study. 3)
5. ol e gfevfd Tfy Sl wHeed |
Explain earnest money and security deposit. A3)

P.T.O.
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6.

10.

L1,

12,

13

14.

15.

Jfercfiar TedTa ) g9EsT |

Explain non-financial incentives. 3)

SR $ 21EH (JIT) T o g 72
What is philosophy of just in time ? €))

ERICTB NS R CRoC

Why effective training is essential ? A3
g ¥t e 7 vt wf. foveivor ) wwemsy |
Explain the ABC analysis in inventory control. A3)
e —
Section — C
SISE ST T G TE wae % %t amesy |
Define management and explain functions of management. (2+6)
wHE FETe T favm & Fritee geeh, AE geeft, =il & uierfies geeh qur
5 e gaeft St i ferfay |
Write the functions of human resource development department related to
employment, human related, wage and labour welfare. ®
fferer <t o StrervereRar ? TaferT 3T 36 e <) farfey =) wmrgsw |
What is necessity of tender ? Explain the method of purchasing by tender. (2+6)

THA SR 1 T SATRHAT 8 7 THY I 3 =07 Hl T |

What is the need of time study ? Explain steps of time study. 2+6)
] T o1 ifentor HifTe e 5% TEeT ) anEs |
Classify inventory and explain its importance. @+
() Y "Te % am-gty frfaw |

Write advantages and disadvantages of line organisation. “)

(i) BT TR AISHT B THTEY |

Explain material requirement planning. “)




